

Additional Funding Request

Submitted on 5/3/22

MD005- Janitor Closet Sink	CSS# 35020 WO# 16880 Asset# NA							
Description of Repairs	<p>S&S proposes to remove and replace both mop sink faucets in janitor closets on first and second floor.</p> <p>S&S will need to complete the following to replace the mop sinks</p> <ul style="list-style-type: none"> • Turn off hot and cold water to each mop sink faucet and repipe water lines penetrating the wall. • Extend new threaded nipples out of faucet holes in mop sink. • Install new mop sink faucets on mop sinks. • Test new pipe, fittings, and faucets once water valves are turned back on. 							
Diagnosis: Initial Work Order	Janitor closet sink, 1st floor, leaks. 2nd floor janitor closet faucet will not turn off completely.							
Diagnostic Fee	<p>\$ 600</p> <p>SS \$100/ hr x 6</p>							
Additional Labor Cost to Perform Repairs	<p>\$ 800</p> <p>SS \$100/hr x 8</p>							
Additional Cost	<p>\$ 592.71</p> <table border="1"> <tr> <td>Materials & Shipping</td> <td>1</td> <td>592.71</td> <td>592.71</td> </tr> </table>				Materials & Shipping	1	592.71	592.71
Materials & Shipping	1	592.71	592.71					
Total Cost of Repair	\$ 1992.71							



S&S Mechanical
4831 South Crain Highway
Upper Marlboro, MD 20772

Tel. 1 - (301) 574-1555
Fax. 1 - (301) 574-1558
www.sandsmidatlantic.com

CUSTOMER QUOTATION NO. 956

Tidewater, Inc.
Tidewater, Inc
6625 Selnick Dr.
Suite A
Elkridge MD 21075

Quote Name: 16880
Quote No: 956
Site: MD005 Broening Highway
Site Contact:
Salesperson: Lindsay Ruby
Created Date: 03/23/2022
Valid For: 30 Day(s)

WO#: 16880

CSS Ticket Number: 35020

Problem: Janitor closet sink, 1st floor, leaks. 2nd floor janitor closet faucet will not turn off completely.

S&S proposes to remove & replace both mop sink faucets in the janitor closets on the first & second floor.

S&S will need to complete the following to replace the mop sinks

- Turn off hot and cold water to each mop sink faucet and repipe water lines penetrating the wall.
- Extend new threaded nipples out of faucet holes in mop sink.
- Install new mop sink faucets on mop sinks.
- Test new pipe, fittings, and faucets once water valves are turned back on.

Service

Item	Quantity	Unit Price	Total
B-665-bstr Faucet	2.00	\$212.94	\$425.88
Shipping	1.00	\$50.00	\$50.00
77317 1/2 CPPXCPP 90 ELBOW QTY 2	1	\$6.06	\$6.06
78047 1/2 CPPXCPP COUP W/ST QTY 2	1	\$5.47	\$5.47
79300 ZL 1/2 CPPXFPT ADAPTER QTY 2	1	\$8.75	\$8.75
1/2 (5/8OD) C-FEM 90 DE ELBOW LF PRESSURE QTY 4	1	\$61.52	\$61.52
1/2 X 10 FT L HARD COPPER TUBING	1	\$35.03	\$35.03
Diagnosis Fee	1	\$600.00	\$600.00
Plumbing Labor Rate	8	\$100.00	\$800.00
Sub-Total ex Tax			\$1,992.71
Tax			\$0.00
Total inc Tax			\$1,992.71

Labor	\$1,400.00
Materials	\$592.71
Sub-Total ex Tax	\$1,992.71
Tax	\$0.00
Total inc Tax	\$1,992.71



Thos Somerville Co
16155 Trade Zone Ave
Upper Marlboro, MD 20774
www.TSCOnline.com

QUOTE

Bill To: 66185
S&S Mechanical
4831 South Crain Hwy
Upper Marlboro, MD 20772

Ship To
S&S MECHANICAL - JOB: 000
SHOP
4831 SOUTH CRAIN Hwy
UPPER MARLBORO, MD 20772

Order #	4644721-00
Page #	1
Ship Point	
Via	Will Call
Terms	NET PROX
D	Entered 05/03/22
A	Picked
T	Shipped
E	Invoiced
P	Printed 05/03/22 12:12
S	Cancel Quote valid for thirty days.

						Instructions				
Taken By	ajc1	Sales in	9999	Sales out	0104	Placed by	Customer P/O	md005	Y	
Ln #	Product and Description			Quantity Ordered	Qty U/M	Unit Price		Price U/M	Amount (Net)	
1	546847 77317 1/2 CPPXCPP 90 ELBOW			2	EA	2.52500	EA			5.05
2	546845 78047 1/2 CPPXCPP COUP W/ST			2	EA	2.28060	EA			4.56
3	546011 79300 ZL 1/2 CPPXFPT ADAPTER			2	EA	3.64350	EA			7.29
4	250179 1/2 (5/8OD) C-FEM 90 DE ELBOW LF PRESSURE			4	EA	12.81770	EA			51.27
5	240097 1/2 X 10 FT L HARD COPPER TUBING			10	FT	2.91900	FT			29.19
5 Lines Total		Qty Shipped Total		20				Total		97.36
								Taxes		5.87
								Invoice Total		103.23

THE PRICES FOR ITEMS LISTED REPRESENT OUR BEST EFFORT TO QUOTE CURRENT PRICES FOR PROMPT ACCEPTANCE. HOWEVER, NO WARRANTY AGAINST OMISSIONS, INACCURACIES OR ANY CHANGES WHATSOEVER UP AND UNTIL THE TIME OF FINAL SALE IS EITHER EXPRESSED OR IMPLIED. PRIOR APPROVAL MUST BE OBTAINED FOR RETURN OF MATERIAL FOR CREDIT. A MINIMUM 15% HANDLING CHARGE WILL BE MADE ON MATERIAL RETURNED TO OUR STOCK. MATERIAL RETURNED TO THE MANUFACTURER WILL BE SUBJECT TO FREIGHT CHARGES AND HANDLING CHARGES. 2% PER MONTH SERVICE CHARGE ON PAST DUE BALANCE.

